0001027182798999

o @® Hhriz G-

« - A ! S o dfr FA
2013 4F 3% 5 1 B {FTH /2% %

l|azFEHET5. LTOMWIER L.
(1) 2xABRL2—2(a+Dxr+3a=04, -1 <z <30OHFAZ2ODOBRBLERMEEL DL ST a DD

i % sfkad £
(2) ad () TRO-BWEEZTH & X, Bty = 22 — 2(a+ Dx + 3a OTHAD y BEEHEY 5 2 fito i
%2R &.

(1) >0, ~I<(E<3, F(-020, 320

R TIE .
2T f(;() = -x"—z(aﬂ)l’."' 3a J

fu=0 o ¥t DL ol

G)yd>o0
Y4 = (a+1)~3a

= o-a+t 4
= (a-57+%

>0
vizy. oo 4B b 5T, D>0 LiF3,

G) BB o F 2L 1z, x=at! &3NS

- <at+{<3

2 =24a< 2
Gi) f(~1) 2o 42 £(3) 20

f(-1)= | +2(at1) +34 = 5a+3 5 satadn 3 a%_%
= -30% 3 ~3at3 208) Qs 1

f(3)= 9 -6lart) +3a

G~ (@) &)

1
or|w
A
=)
A
———

”




0001027182798999

200 FixE 0—e >

2013 4F >CR B 1 R

l |a%2EHESTD. UTORWIZEZ £.

Hp = kO L.

=K L.

(2) THS. 0 Y 2 £ Y(@) TET L.
T = {x—(a-t—f)}z- (a+1)+ 34
= {x-(at O —a*+a-{

YY)z —ata- |

7

QA F¥XB /arx

. |

(1) 2xABR 2?2 —2(a+ Dz +3a=0», —1<x <3O 2 DD REZERMA L DL 54 a OEOD

(2) a’ () TRO-FEHET & X, Bty = 22 — 2(a+ Dz + 3a OISO y BRI > 2 fio F

g(alw.‘
3

-3 |
TR
IR
i "l - “
/1.4

N 25




